S W a7 K&T70mY Eo#®m KEE

B H . 20214E10 H29H &0 H
& W FHaN7 257 5,364 Yard Par 72

FHED AR D)L 7 EE

(7 a Z2Di#]

IIE 11 CESIE /R
Z B XHEB 225
B ARE )| 232

3z FHEEF 234
Yiva PR 234
5 AZEIR IR 235
643 AASLL 235
A3 NIY 236
813 ARZEA 237
9L FE=EC 240

1061 KHFEA 240

1143 BtA 241

124z = RIR 241

1341 FHEB 242

1441 FHEE 243

15431 ) 243

16431 AZEB 245

1741 FHAE=A 247

18431 N 248

1941 =15 251

201z T4 252

2141 T 262

22{if FHE=D 262

23{i1 BB 273

[y hDER]

I 2 CEXIES TR
Z B =R 216.4
EEE BIJA 216.4

3{u AR R 217

Afsz i 217.2
5 TN 217.2
6131 KHIFA 2174
7ML ARZEA 2178
8L T4 218

913L AAESLIL 218.8

104iz /Il 219.2

1141 FHEE 220.2

12431 ) 220.2




FEH N B IV 7 KET0E Y Eo @ k& E
EEEH: 2021410 H29H &R
£ B TRk 7257 5,364 Yard Par 72

T AR D)) 7 #E

13 FHEB 220.4
1441 FEHEA 220.6
154 AR 221.6
1643 FH=D 223.6
174 FH=C 294

1843 AZEB 224.6
194 TF 226

2031 B 232.2

YR+ KHEB TaEF ouT 33 IN 39 GROSS 79




X BRORFHL TV 7T R & T0% B E o F

i H T 20214E10 H29H &:0# H
& B TN 72757 5,364 Yard Par 72

W m R

TOTAL | Bz | TOTAL | NET TOTAL | JESL | TOTAL | NET

KHEEB A
225 1 234 4 2172 5
K % OUT | IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
" & B #F 33 | 39 72 *| 424 744 % K = 37 | 38 75 *| 48 |702*
m B % 40 | 33 73* 0 |730 A+ B F X 39 | 40 79 *| 60 |730%*
OB B X 39 | 41 80 *| 6.0 |74.0 % K ®Bm 1T 41 | 39 80 *| 6.0 |740%*
w® F OB 46 | 38 84 | 96 744 n o 8 #® X 42 | 42 84 | 96 |744
TOTAL | llB%Gz | TOTAL | NET TOTAL | JEfZ | TOTAL | NET

AR EA] 1 IRZEIR R
232 2 235 5 2170 3
K £ OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL|HDCP| NET
s W E — BB 35 | 41 76 *| 48 |71.2 15 - 37 | 36 73 *| +24 |754*
X ® B 37 | 4 78 *| 24 |756 w A E X 42 | 39 81 *| 10.8 |70.2*
X = = 39 | 39 78 *| 1.2 768 E O3 O E O 43 | 38 81 *| 96 |714*
B K & £ 40 | 39 79 | 60 |73.0 E B - = 40 | 43 83 | 72 |758
TOTAL | lEGZ | TOTAL | NET TOTAL | llBSZ | TOTAL | NET

FHEHEF BEELL
234 3 235 6 (2188 9
K £ OUT | IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL HDCP| NET
RE W E ¥ 36 | 41 77 *| 24 |746 ¥ A E 1 36 | 38 74 *| +12 752
X B # = 40 | 38 78 *| 6.0 [720 A #0 % 38 | 41 79 *| 72 |71.8*
= I I - S 41 38 79 *| 48 |74.2 O 2 39 | 43 82 *| 84 |736*
O OHF 27 7 42 | M 83 36 |794 ® F BB X 44 | 45 89 | 156 |734*




X B X bt a2V 7 K &
S H T 2021410 H29H &0 H
£ B TkanN 72757 5,364 Yard Par 72

70 B E o

W om R

TOTAL | IESL | TOTAL | NET TOTAL | JlEfz | TOTAL | NET
/L KHEA
236 7 1219.2| 10 240 10 2174 6
K % OUT | IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
#w B F X 37 | 4 78 *| 12 |768 153 E E 41 | 39 80 *| 48 |75.2
E @A i — 40 | 39 79 *| 60 |73.0* w XK F X 38 | 42 80 *| 84 |716*
# E B 37 | 42 79 *| 72 |718* A OB E A 41 | 39 80 *| 7.2 |728%*
£ 11 B % 45 | 39 84 96 |744%* H F B8 F i 42 | 43 85 | 120 730*
TOTAL | ESZ | TOTAL | NET TOTAL | Bz | TOTAL | NET
ABZEA H3A
237 8 (2178 1 241 11 (2164 2
K % OUT| IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
5 A 5h 37 | 42 79 *| 72 |71.8* E B A X 39 | 38 77 *| 36 |734*
®’OE  — K 40 | 39 79 *| 48 |74.2* & R = = 40 | 42 82 *| 84 |736
X F B B 41 | 38 79 *| 72 |71.8* 8 B B E 40 | 42 82 *| 96 |724*
2 @® § 3 42 | 42 84 96 |74.4 == IS 1 I = 39 | 46 85 | 144 |706*
TOTAL | 6z | TOTAL | NET TOTAL | JBHZ | TOTAL | NET
EE ERR
240 9 (2240 17 241 12 (2164 1
K £ OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL|HDCP| NET
xE B B B 39 | 36 75 *| 1.2 |738* 7B 3 * 39 | 38 77 *| 48 |722%
- 40 | 42 82 *| 60 |760* R 39 | 40 79 *| 6.0 |73.0
E OB - zZ 41 | 42 83 *| 6.0 |77.0 EA N i 43 | 42 85 *| 132 |71.8*
£ B A & 46 | 39 85 | 108 |742* B W B BB 47 | 47 94 | 216 |724*




X HW o b a N 7 K £
R H D 2021410 H29H &WEH
2 B TWean7 257 5,364 Yard Par 72

70 Bk o #B

o R

TOTAL | IESL | TOTAL | NET TOTAL | B | TOTAL | NET

FE =B FBZEB
242 13 12204| 13 245 16 |2246| 18
K £ OUT | IN |TOTAL HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
E R OB 5 40 | 40 80 *| 72 [72.8*  H —  HP 38 | 38 76 *| 24 |736*
i K X X 39 | 41 80 *| 48 |752%* m O OE B =X 40 | 42 82 *| 72 |748*
H # #F % 43 | 39 82 *| 6.0 |76.0 ¥ H ©FE B 40 | 47 87 *| 10.8 |76.2*
X X F & 40 | 42 | 82 | 96 |724*| | K A f& 18 47 | 44 | 91 | 144|766
TOTAL | IEfZ | TOTAL | NET TOTAL | Bz | TOTAL | NET

FAEE FE=
243 14 1220.2| 11 247 17 1220.6| 14
K £ OUT | IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
VRN PN 38 | 41 79 *| 48 |742% x B 1B F 36 | 44 80 *| 7.2 |728*
X B & # 40 | 40 80 *| 7.2 |72.8* £ B B 38 | 43 81 *| 60 |75.0*
= H OB 44 | 40 84 *| 10.8 |73.2* R O& 43 | 43 86 *| 132 |72.8*
2 | | - I 43 | 47 90 | 144 |75.6 X W E = 44 | 44 88 | 84 796
TOTAL | 6z | TOTAL | NET TOTAL | IEfL | TOTAL | NET

=<5 EAR
243 15 1220.2| 12 248 18 2216 15
K £ OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL |HDCP| NET
F B B = 39 | 41 80 *| 6.0 |74.0* £ B = 3 38 | 40 78 *| 7.2 |708*
T ol E X 40 | M 81 *| 72 |738* A B = 43 | M 84 *| 96 |744*
B oW & B 41 | 41 82 *| 96 |724* hFOK OB 43 | 43 86 *| 96 |764*
g2 B —- B 41 | 48 89 | 10.8 |78.2




X BRFHL T 7 R&ET7T0 B E o ®

R H D 20214810 H29H 4 H
2 B TanN7 2757 5,364 Yard Par 72

o R

TOTAL | B | TOTAL | NET TOTAL | llE6Z | TOTAL | NET
=17 FHED
251 19 12172 4 262 | 22 2236| 16
K % OUT| IN |TOTAL |HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
PERp] B 43 | 39 82 *| 84 |736* X & Ik If 40 | 43 83 *| 108 |72.2*
2 B #F = 39 | 44 83 *| 108 | 72.2* H % % E = 45 | 44 89 *| 120 [77.0*
E & 8 45 | 4 86 *| 12.0 | 740 m B B - 46 | 44 90 *| 156 |744*
Bk B B B 44 | 43 87 | 156 |714*
TOTAL | EfL | TOTAL | NET TOTAL | %z | TOTAL | NET
T4 BB
252 | 20 2180| 8 273 | 23 (2322 20
K £ OUT| IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
" #E F A 40 | 40 80 *| 72 |728* m B M X 42 | 42 84 * 72 |768*
HHE A KX 4 | 44 85 *| 7.2 |778 T OB — % 46 | 44 90 *| 15.6 | 744*
52 B E = 43 | 44 87 *| 156 |714* it # GIN 48 | 51 99 *| 18.0 |81.0*
X B B X 42 | 45 87 | 132 |738*
TOTAL | Bz | TOTAL | NET
T
262 | 21 (226.0| 19
K £ OUT | IN |TOTAL|HDCP| NET
B B OEm B 42 | 41 83 *| 7.2 |758*
B E2 R F I 44 | 43 87 *| 156 |714*
# L+ E = 47 | 45 92 *| 132 |788*




